[pb/GeV]

t,2

pT

do/d

Ratio to ATLAS

10

107

[EEY

0.5

13000 GeVpp tt

[ [ L I L L N A I B B BN B B )
C
L ptTOIO (ATLAS semileptonic ttbar) _ %
= 33
— —HS
— <
— N
B o
—
— —
— =
— —@
— —.2
L -
B Hi%)
I B ESP)
o
I _ 1M
— Ho
— Ho
— 1M
B 1
B 1z
m ATLAS >%
= --id-- Herwig 7.2.1 default =
— —a— Pythia 8.308 default ==
- ¢ Sherpa 2.2.0 default T! | §
= — g
— - O
— S
| | | | | | | | | | | | | | | | I =
: T | T T T T | T T T T | T T T T |:
— =2
I 1
R ’ i
B _______ &) 7
- -3 //, $ ----- 1
- Ei} £, é]', i
-, S v —0.5
500 1000 1500 2000



	Contents
	Page 1


